DEBUT
feux=1
4 ->PORT A
Pause
PAUSE 400 ms

feux=1 et ferm=1
6 -> PORT A

depart ferm ?
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PORTB <- PORT B

depart ferm ?
Tant que(PORTB AND 2) ...

Pause
PAUSE 80 ms
INT BP ou cellule ou fdc
Autorisé Modification Por...
INT disjoncteur

Autorisé RBO/INT

fermeture
Tant que(INTERRUPMOUV=...

Entrée

ENTREE/" PORTB <- PORT B

ferm+feux
6 -> PORT A

interrupmouv
(INTERRUPMOUV=0) OR ((..?
Non

Pause
400 ms

interrupmouv
(INTERRUPMOUV=0) OR ((..?
Non

PAUSE

ouv
2->PORT A

Pause

PAUSE 250 ms

fermeture

Sortie
0->PORT A

bp ou cellule ou fdc
Inhibé Modification Port ...

Disjoncteur
Inhibé RBO/INT

Entrée
PORTB <- PORT B

fini de fermer?
(PORTB AND 4) =0?

Non
Oui
cellule ?
_ Calcul " (PORTB AND 8)=07?
B INTERRUPMOQUYV = ’ Non
Oui
_ Calcul
B DEMFERM =0
_ Calcul
B INTERMOUVPARCEL =1
Calcul

INTERRUPMOUV =0

Calcul
DEMFERM =0

DEMOUV =1

FIN



